SECTION - I

Psychology
1. fRE s, Fify, 99 v 99 | 1. The occupations like electrician,
E]mﬁ%m .......................... aﬁ mechanic, machine opera'tor
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(A) fsw B (A) Intellectual Ski]ls
(B) IS IS (B) Communication Skills
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Which of the following statement

is NOT true about ‘attention’?

(A) Attention is a selective
process.

(B) Conscious mind remains.
active during attention.

(C) Existence of some purpose is
necessary for attention.

(D) Attention is stable.

Who used ‘Puzzle box' in his
experiments for developing a
theory of learning?

(A) B.F.Skinner |

(B) E.L Thorndike

| (C) Pavlov

(D) Tolman

An individual becomes more clear
in oral expression as well as in
written expression during-

(A) Infancy stage.

(B) Early childhood stage.

(C) Later childhood stage. |

(D) Adolescencestage.
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(A) I TR F
(B) U TR T |
(C) ¥ WA H
(D) 37 § §HE T

'‘Bhatia's Battery of Performance
Tests of Iptelligence' consists of-
(A‘) 2 sub-tests |

(B) 8sub-tests

(C) 5sub-tests

(D) 6sub-tests

The retrieval of what has been stored

in memory is called -

(A) Recall

" (B) Recognition

(C) Reconstruction

~ (D) Reorganisation

. Learning Hindi may help alearner

learn Punjabi. It is an example of-
(A) Positive transfer of learning

(B) Negative transfer of learning

(C) Zero transfer of learning

(D) None of the above

[P.T.O.
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11.

12.
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is NOT a branch

of applied psychology.

(A) Educational psychology
(B) Clinical psychology |
(C) Military psychology

(D) Experimental psychology

Adjustment is related to-
(A) Spiritual Development.
(B) Social Development.
(C) Physical Development.

(D) Moral Development.

A person's potential ability in an
activity of a specialised kind is
KILOWTL@S ov.oveessnnsiunivoreivaisiosionce «
(A) Intelligence - -

(B) Aptitude =~~~

(C) Interest

(D) Creativity



14.

15.

13. =i frera frefafan 9 @ feawt
" gl R ?
(A) STIHA
(B) SETET
(©) s SR R e
(D) 7 Sengehw 3R A & e
& foreres ST e & ol = von | 14
F) T THA -
(A) VEE T T R
(B) maaaﬁmﬁmﬁ%m
(C) e F THRfER T P G
(P) Suiiad |t
e T & fir  wifage 9E =EeR | 19
% faam €2 |
(A) FFga \
(B) ®faaf
(C) I gH
(D) F=a
[7]

[J -2307 ] Series-B

13. Which of the following has an

important role in an individual's
development?

(A) Heredity

(B) Environment

(C) BothHeredity and Environment

nor

(D) Neither Heredity

Environment

A teacher can enhance motivation
among the students in his class
through -

(A) Praise and Reward

(B) Useofsuitable teaching methods

(C) Congenial élassroom

environment

(D) All of the above

Who said, “Psychology is the
science of human behaviour”?
(A) McDougall

(B) Kolesnic

(C) James Drever

(D) Woodworth

[P.T.O.
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16. Which of the following is at the

17.

18.

bottom of hierarchical structure of
needs presented by Abraham
Maslow in his 'Self-Actualisation
theory'?

(A) Safety needs

(B) Esteemneeds

(C) Self-actualizing needs

(D) Physiological needs

Which of the following concépt was
NOT used by Kurt Lewin in his 'Field
Theory of Learning”?

(A) Topology

(B) LifeSpace

(© Reinforcement

(D) Valence

Who stated that, "An individual is
intelligent in the proportion thathe is
able to carry on abstract thmkmg "?
(4) Wagnon

(B) Terman

(C) Stern

(D) Pinter
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19. Which of the following statement

is NOT true for a creative

individual?

(A) A creative individual has
limited range of interests.

(B) A creative individual has high
intellectual capacity.

(C) A creative individual is
concerned with philosophical
problems.

(D) A

produces something new,

creative individual

either totally or partially.

20. Who used the term 'mental-age' for

21.

[9]

the first time?
(A) Binet
(B) Spearman
(C) Wechsler
(D) Raven

hpexams.in.isa mental structure
that helps us to understand and
interpret new information.

(A) Schema

(B) Assimilation

. (C) Accommodation

(D) Equilibrium

[P.T.O.



22, TUD wevrreverrrererreirnennes Tl 22. Punishmentis .......ccoceveseessensacas :

(A) T HHITHS FelcTh (A) apositive reinforcer
(B) T ThRIcHeh Jelcieh (B) anegative reinforcer
(C) =+ yaaish ol (C) not a reinforcer

(D) SR & | g T (D) None of the. abqve

23. firareie g fawfaa ‘9fg 91 | 23. The 'Structure of Intellect Model'

A W R € - developed by Guilford provides -
(A) &S 160 T (A) 160 factors of intelligence
(B) If& % 140 T (B) 140 factors of intelligence
(é) g & 150 T | (C) 150 factors of intelligence
(D) f& % 130 7= _ (D) 130 factors of infelljggnce

24. THHTHA & STTER W slifga Mafary | 24. According to Spearman, each

‘ﬁ e B R - intellectual activity involves -

(A) 'g' FRH (A) 'g' factor |

(B) 's' S | | : | (B) 's' factor

(C) 'g ®RF AR 's' HRH TH & (C) Both 'g' factor and 's' factor
(b) 7 'g' FF SN ';I'&‘T 's'r 'GFlﬁu' (D) Neither'g' factor nor 's' factor
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27.

[111]

As a science of behaviour,

Psychology studies ............ccosuruencs :

(A) Overt behaviour of human
beings.

(B) Overt behaviour of any
organism.

(C) Covert behaviour of human
beings.

(D) Both overt and covert

behaviour of any organism.

In which method the individual
observes and analyses his own
behaviour?

(A) Experimental method -

(B) Clinical Method

(C) Introspection method

(D) Questionnaire method

For Piaget, the child begins to
explore various solutions of a
problem in a very systematic and
logical way during-

(A) Semoﬁﬁbtor stage.

(B) Pre-operational stage.

(C) Concrete-operational stage.
(D) Formal- operational stage.

[P.T.O.
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[12]

28.

29.

30.

According to Thorndike, which of
the following is NOT an attribute of
Intelligence?

(A) Memory

(B) Range

(C) Speed

(D) Level

The correlation between 'Retention’

(A) Negative
(B) Positive
(C) Zero

(D) Weak

The éinip‘lest form of thinking is
(A) Creative Thinking
(B) Abstract Thinking

(C) Logical Thmkmg

" (D) Concrete Thinking
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SECTION - 11

English

Direction for Q. No. 31 to 32 :
Choose the correct option of Vert/

Tense which fits in the given blank

of each question.

.......................... English for five

years.

(A) study

(B) tam studying

(C) havebeen stﬁdying

(D) has been studying

L ocosBsisommeotisiinces him for a long

(A) amknowing

@) know

(C) haveknown -

(D) knew

33.

34.

Direction for Q. No. 33 to 34 :

Choose the correct option to
complete the incomplete sentences,

Inspite of his failure

------------------------

(A) he has kept his moral high,
(B) he keep his moral high.
(C) he keeps his moral high.

(D) hewaskeeping his moral high.

This is the BOOK ......vveeveeeesersesesoseene .

~ (A) which is stole yesterday.

[13]

(B) which was stolen yesterday.
(C) which stole yesterday.
(P) which have stolen yesterday.

- [P.T.0.
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36.

37,

Direction for Q. No. 35 to 37 :
Choose the most suitable option

(Modal) out of the choices given.

........................ I have the honour to
invite you on the dice.

(A) Can

(B) Should

(C) Could

(D) May

The college .......ov........
clqsed on‘15th' November on
account of Guru Purab.

(A) may =

(B) will

(©) can . |
D) shall T snmaT b

%

We ..o siesissmesssens £0 hlp our

_neighboursinneed. . =
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(A) should
(B) could : = -
(C) neednot

38.

39.

40.

[14]

Direction for Q. No. 38 to 39 : Fill
in the blanks with the most suitable
word from the alternatives given.
This is the same DOg ....c..cceveevrnene
barked at him but forh.inately did
not bite him.,

(A) that

(B) which

(C) who

() whom

This is only one of her novels ...........
have been published till date.

(A) which

(B) that

(C) who

(D) of which

"God madé the cbuntfy and man
made the town", who wrote this
line? 7 ¥

(A) Wordsworth -

(B) Cowper -

(C) Blake =

(D) Thomson



41. "A Thing of Beauty" was written Direction for Q. No. 44 to 45 :

by- ' Choose the correct passive voice.
(A) Robert Frost

(B) ] hn Keats 44, Why did your brother write such a
ohn Ke

(C) PabloNeruda letter?
(D) StephenSpender (A) Why was a letter written by
your such brother?

Direction for Q. No. 42 to 43 :
(B) Why was such a letter written
Choose the most suitable option

(ArticlM’repositions/Dete;'miner) by your brother?

for the blank of eéch question. (€) Why had such aletter written
42, Kashrrir is hpexams.in. Switzerland . by your brother?

of India. | - (D) Why this letter was written by

(A) a your brother?

(B) an

(C) the

o _ | 45. Quinine tastes bitter.
a2 (D) None of the above
= ¥4 : : (A) Q@nine taste is bitter.

43. Selfishness is natural ............. man. ' (B) Quinine tasted bitter.
(A) for R ATS A (€) Quinine was bitter when
(B)---Of_ ot 2 oqE . tasted.
(C) in |

(D) Quinine is bitter wher tasted.

(D) to
[J-2307 ] Series-B [15] o  [PT.O.
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47.
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Direction for Q. No. 46 to 48 :
Choose the correct synonym of the
given word from the options given

below.

"Callous"
(A) Stiff
(B) Dupe
(C) Strife
(D) Hard

"Dexterous"

(A) Inert

(B) Skillful

(©) Ruin |
(D) Clumsy

"Bold"

(A) Impudent
(B) Fragile
(C) Active

(D) Brilliant - .~ ..\

49.

50.

| 51.

52.

[1-3]

Direction for Q. No. 49 to 50 ;
Choose the option which is spelt
correctly.

(A) Misschievous

(B) Mischievous

(C) Mischivious

(D) Misschivious

(A) Zerophytes
(B) Gerophytés
(C) Jerophytes
(D) Xerophytes

Direction for Q. No. 51 to 52 :
Choose the correct senteﬁ’ce.

(A) Bible is a sacred book.

(B) Bibleis the sacred book.

(€) The Bible is a sacred book.
(D) The Bible is the sacred book.

(A) He has settled in U.S.A.

(B) He has settled in the U.S.A.
(C) He has settled at USA
(D) He hassettled on USA



53.

54.

55.

(A) Partial
®) Préjtidicé .' | 60.
(C) Jurisdiction
(D) Fanatic -~ 70
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Direction for Q. No. 53 to 55 :

Give one word for the following

expression, Choosing from the |

options given under each expression.

A remedy for all diseases.

(A) Panacea

(B) Philistine
(C) Numismatics

(D) Matricide

One who looks at the right side of
the things. S
(A) Pessimist
(B) Optimist

(C) Patrimony

(D) Orthodox

A man who has too much

enthusiasm for his one religionand |

hates other religions.

56.

57.

| ss.

59.

Direction for Q. No. 56 to 58 :
Choose the correct antonym of the

givenword from the options given
below.

"Celibate"
(A) Married
(B) Widow
(©) Idle
(D) Devil

"Zenith"
(A) Disgust
(B) Nadir

- (C) Passive

(D) Pinnacle

"Ecstasy" }
(A) Unhappiness
(B) Beatitude

(C) Silent

(D) Eiphoria -

Direction for Q. No. 59 to 60 :
Select the correct forms of the verb.

(A) Light Lit Lit
(B) Light - Lighter Lighter
- (C) Light Lighter Lightest

(D) None of the above.

(A) be was/were been

(B) be bed bed

(C) be be be

(D) be ~ was/is were
[PT.O.



SECTION - I
Social Study

61 ‘e FME? 61. What s Toucan?
(Aj vt (A) Bird
(B) wdd (B) Mountain
(C) W™ (C) Grass

(D) ¢ (D) Animal

62. T 1 fpa ¥ B 9§ W %! Wit | 62. Rajya Sabha is dissolved after how
®7? | many years?
(A) 2 ¢ o (A) 2years
(B) 4ad | > | (B) 4 years
(Cj LE Fes i (C) 6years

63. SRty w wEH q- .63. Ali Bandhu were associated with-
(A) =@t e A e £y (A) Wahabi Movement -
(B) ‘TRH@I?;?I WFFT'@ 5 | S (B) QuitIndia Mdvémen;‘ .'

(C) Th R 3117@("17[ | e , '_(C) Khaksar Movement

(D) faersa = /@ <) | (D) Khilafat Movement °

[J-2307] Series-B 18]
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65.

66.
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T ferem fean?
(A) feeer

(B) Aqifera
(C) SR

(D) Were Tt

w7 99 P iR @ w9 F R
ST ST § 2

(A) faferam sfés

(B) W feret

(C) e Hewrn

(D) wfe Hsi

I = ST et 8 & foerh w2
Y B §2

(A) fort s

(B) T AT

(C) TF /A -

(D) ifa s

64.

65.

[19]

Who gave the slogan- 'One person,
One empire and One leader'?

(A) Hitler

(B) Nepolean

(C) Czar

(D) Mahatma Gandhi-

Who is known as the 'Liberator of
Press' in India?

(A) William Bgntinck

(B) Lord Lytton

(C) Lord Metcalfe

(D) Lord Curzon

66. Vice President of India is the

ex-officio Chairman of the -
(A) Finance Commission x

(B) Election Commission

(C) RajyaSabha

(D) Niti Aayog

- [PT.O.



67. Tfafea & 9 =59 TI ! GfWT | 67. Which of the following refers tq
FAE? Bugyal?

(A) 3@ D T o (A) Coastal regions of Kerala

B) Hilly region in the Aravalli
(B) 3WreH 1 B &% (®) Y¥E6! °

(€) 32 wEl H foum w3 #gH
(D) faener Hert St aren &

(C) Vast meadows in the high
mountains

(D) Large cultivated area in plains

68. I I 79 &l & fF +1E fadgF 9= | 68. Who decides whether a bill is a

fataes & @ 7 ? money bill or not?

(A) Tsgafa (A) President

(B) T |WI 3TeAY (B) LokSabha Speaker
(C) W | * (C) Prime Minister
(D) foa wsit (D) Finance Minister

69. Hefan werRd ufex w1 fmfw fiFg | 69. King of which dynasty built the

IERT & TSGR Ll 41 ? Kandariya Mahadeva temple?
(A) (A) Cholas

(B) <gH ' (B) Chalukya

(C) =R« - (C) Chandela

(D) ¥ 0 (D) Shunga

[J-2307 ] Series-B ¥ [20]



70, W S @1 e’ & w9 H fRY | 70. Whatis knownas the key of Indian
ST ST § 2 Constitution?

(A) TR A (A) Supreme Court

(B) wifers oA
(C) Hawif TRl 1 SR

(B) Fundamental Duties
(C) Right to Constitutional

Remedies

() W (D) Preamble

71, Gfaum & fR W Y 9 @f9YE | 71, Which part of the Constitution is

1 AT el el S § 2 called the Magna Carta of the
(A) W II Indian Constitution?
(B) W I (A) Part Il
o (B) Part III
(C) wmIV
_ - (C) PartlV
(D) SFTY | (@) Partv

| 72. Which plateau lies between the

R fEa gy ek 7' | 1. Aréva]i and the Vindhya ranges?
(A) WREE WO U (A) Marwar Plateau

_(B)q @ZHF[ST YR LT | (B) Chhota Nagpur Plateau
(C) WERI TR i | (C) MalwaPlateau

(D) WE‘IW i (i) | (D) Deccan Plateau

[J -2307] Series-B T21] 0 PTO.



73. awed gt o foer fma Yo & e

74.

75.
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Q forn mn § 2
(A) smfEm
(B) sifeferan
(C) vl

(D) Wi

HIF W UT MR F T Bl 87
(A) 9%

(B) Fewdfd

(C) W

(B) =&

QUK Sl ?
(A) 1908

(B) 1911

© 115

(D) 1919

73. The idea of concurrent list is taken

74.

75.

122}

from which country's Constitution?
(A) USA

(B) Australia

(C) Germany

(D) France

Which planet is smallest in size?
(A) Mercury

(B) Jupiter

(C) Mars

(D) Neptune

In which year Rabindra Nath
Tagore won the Nobel prize in
Literature?

(A) 1908

(B) 1911

(C) 1913

(D) 1919



76. MY Eid e fvus ggam @ wfad | 76. Durgapur steel plant was set up in

femar T @1 ? collaboration with which country?
(A) foe (A) Britain
(B) SO (B) Japan
(C) ST (C) America
(D) ®H (D) Russia
77. ‘fgen’ & AEH B T? 77. Who is the author of 'Rihla"?
(A) Tersee &M (A) Rabindranath Tagore
(B) =S (B) Ibn Battuta
(C) o <fereeta | (C) LeoTolstoy
(D) fafezm Qe ] (D) William Shakespeare

78, Wﬁwy%ﬁﬂgaﬁqmﬁqﬁ '78. Who led the revolt of 1857 at

2 | r ~ Allahabad?
(A) TR Ve - ' (A) Bahadur Shah
.(B)‘ ferarra st |  (B) Liaquat Ali
(C) afmmw | : (C) Begum Hazrat Mahal
(D) dR HK e ‘ (D) Vir Kunwar Singh

[J-2307] Series-B [23] i [P.T.O.



79. S W T ‘WA we’ & wnfrd 7 | 79. Which State is not a part of the
47 'Seven Sisters'?
(A) TR (A) Manipur
(B) fagu (B) Tripura
(C) fafwrm (C) Sikkim
(D) W (D) Assam
80. ¥TH @ A W EWINUA WK H1 ‘@Y | 80., Which of the following amendment
iU e § 7 QQIQ 'zémqmit§ﬁ6rlﬂglndia?
(A) 3273 (A) 32nd
(B) 4273 (B) 42nd
(C) 444 (C) 44th
(D) 46 =i (D) 46th -
81, ema 3 frd g §1. Inindia, howmanyStatesshare the
Y, o coastline?
(4) 7 (A) 7
(B) 8 (B) 8
©) 6 ©) 6
(D) 9 (D) 9
[ J-2307] Series-B [24]
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(B) Wi®
(C)
(D) LT

83.

--------------------

(A) e B TR o R 3
-

(B) & @I iR 7 Y@

() <t g e ek g

(D) T A

cccccccc

seonOORRPIROEOORRIIESEIONSIORESE X
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82. The Industrial revolution firstbegan
IEX siosinirsssimeiins :
(A) England
(B) France
(C) Germany
(D) USA

83. Grid is a network of -

(A) Parallels of latitudes and
meridians of longitudes

(B) The tropic of cancer and the
tropic of capricorn.

(C) The NOfth pole and the South
pole

(D) None of these

N

o
~

SN

| 84. No;lﬁh America and South America
arejoined by the hpexame:in--
(A) Strait of Gibraltar

(B) Isthmus of Panama

(C) Suez Canal

(D) Malacca Strait

[25]

[P.T.O.



85. WeTeH! Tiet ¥ 'HA A W' v AW
s % ferg e ?
(A) T B e
(B) e s s
© mﬂ’mmﬂﬂ
(D) fere aer

86. TM-T-goRl Y T foR e g 2

(A) 1556
(B) 1564
(C) 1576

(D) 1582

7 ﬁﬁ%m%‘?
(A) 10

(1‘3) b B

(€ 157 e

(D) 18

[J 2307 ] Series-B

4
l

87. 'ugaaugmaﬁgtmqﬁqzﬁw - 87.

: How many total members are there

S

[26]

86.

85. Mahatma Gandhi gave the slogan

'"Do or die' for which movement?
(A) QuitIndia Movement -

(B) Civil Disobedience Movement
(C) Non-Cooperation Movement

(D) Khilafat Movement

Din-e-Ilahi was introduced in which
year?

(A) 1556

(B) 1564

(C) 1576

(D) 1582

in Securlty Counc1l of United

Nauons orgamsatlon'?
a)10

B) 11

(C) 15

(D) 18 -



88. 3T¥aEN NI forelt 7 wiag T S

89.

90:.

[J-2307 ] Series-B

qe?

(A) sTsrearE
(B) <&d el
(C) T

(D) Is=R=

‘T O B R e faet ?
(A) @
(B) Wl

(@) *ﬂ%w;

(5) =0

uRa A w few @ e R |
g P

(4) 7
®) 8
© 9

(D) 6

88.

89.

Which is the famous book written by

Ashvaghosha?

(A) Ashtadhyayi
(B) Brihat Katha
(C) Harshcharita

(D) Buddhacharita

Who wrote the book 'The Social
Contract'?

(A) Hobbes

(B) Locke

(C) Montesquieu

(D) Rousseau

90.  How many Union Territories are

there in India?
(A) 7
(B) 8

(C) 9

(D) 6

[PTO.



91.

92.

93,

[J-2307 ] Series-B

PN AR Wi R T § E?
(A) T

(B) wAleHh

(C) Y WaW

(D) Y=

faean gafelame’ @ war § fre anem
T ?

(A) TSIRE Higs 19

(B) @it qam<

(C) =vE 9%

(D) ¥¥ar w fammanm

-t el sjren v st A | 03

ST A &7
(&) T
(B) w9
(© W=
(D) &9

91.

92.

[28]

In which State is the Krishna Sagar
Dam situated?

(A) Rajasthan

(B) Karnataka

(C) AndhraPradesh

(D) Punjab

Who started the movement in
favour of 'Widow Remarriage'?
(A) Rajaram Mohan Roy

(B) Swami Dayanand

(C) Keshav Chander Sen -

(D) Ishwar Chandra Vidya;éa'lgar

Which mountain rangé separates
Asia and Europe?

(A) Ural

(B) Alps

(C) Rocky

(D) ‘Indies



94, fra & 1 'faya =1 s’ wer Sl

95.

96.

[J-2307 ] Series-B

¥?

(A) YA T &
(B) W &

(C) VA& W &
(D) 3 &

WIRd H WoH AW e fee a9 e
7
(A) ¥ 1949 #

(B) §1947 &
(C) ¥ 1951 ¥

(D) &1 1950 #

g A g % ogER Frafafea 4 9

F A TR R reu @ e ey

2
(D) WfT 2 =

94, Which among the following region

95.

96.

[29]

is known as 'Orchard of World'?
(A) Equatorial region

(B) Savanna region

(C) Mediterranean region

(D) Tundraregion

First General Elections held in
India began in the year -

(A) 1949

(B) 1947

(C) 1951

(D) 1950

In order of their distance from the
Sun, which of the following planets
lie between Mars and Uranus?

(A) Earth and Jupiter

(B) Jupiter and Saturn

(C) Saturn and Earth

(D) Saturnand Neptune

[P.T.O.



97, firedt = 2 W e WA B ot | 97. Which type of soil is found in most
i & g et 2 part of India?
(A) el fagdt (A) Black Soil
(B) e firdh (B) Laterite Soil
(C) v fuedh (C) RedSoil
(D) it fireh | (D) Alluvial Soil

98. =fior wra & Y19 wa =) @ s R | 98. Who popularized Shaivism in
e 8 - southern India?

(A) EER | (A) Alvars

(B) TIR k ' (B) Nayanars

(C) s ' (C) Veerashaiva

(D) T8 A “EREE L (D) None oftheabove-
99’@ Gﬁ%ﬁ%ﬁ?'ﬂ'@ﬂ? e‘:'? 99, ’Who was the Political Guru of

%(\?) i AR L 08 | (A) GopalaKrishna Gokhale
AR PR TR (B) DadaBhai Naoroji
(C); o e e ‘
| L\ Mgt hesanded £ | (C) Bal Gangadhar Tilak .
DS TRIT, . 5 % | (D) LalaLajpatRai -
\ :
[J-2307] S\'i\?"ﬁes“-B 130]




100. ‘fo IR gHEHM TH T aY B

sta &' o v fopen e 97
(A) T {7 31ewg ©f

(B) HewTR STl e

(C) e et

(D) s iR

101. wTEH g5 # Frafafea § 4 feg = | 101

® T W AM W geA1 417

102, i S T & ot e Y

FANFHE 7
(A) Yefrrs e
®) g
(C) TrvEd &
(D) Y& Y@

[J-2307 ] Series-B

[31]

100. Who said these words, 'Hindu and

Muslim are the two eyes of a
beautiful bride'?

(A) Sir Syed Ahmed Khan

(B) Mohammad Ali]innah

(C) Mahatma Gandhi

(D) Rabindranath Tagore

Lord Buddha got enlightenment on
the bank of which of the following
river?

(A) Niranjana

(B) Budhi Gandak

(C) Mahananda

(D) Mahima

102. The Boundary line between India

and Pakistan is called-
(A) Radcliffe Line

(B) Durand Line

(C) McMohan Line
(D) RedLine

_[PT.O.



103. TR Forre AR =T o A i e

¥?

(A) T TEHR

(B) % WHR

(C) T frafem smam
(D) @ frate smam

104. R T T W -
(A) Trfd
(B) TYEHAT
(C) WA & ﬁm

(D) WReE Wfaar Y e

105. T3 1 & TRl 1 Siferwa W &
.
(A) 250
(B) 238
(©) 240
(D) 260

[J-2307] Series-B

103. Municipality and Panchayat
Elections are conducted by-
(A) State Government
(B) Centre Government .
(C) State Election Commission

(D) Centre Election Commission

104. The source of Indian sovereignty
is-
(A) President
(B) Prime Minister
(C) People of India

(D) Preamble to the Indian

Constitution

105. The maximum number of members
in Rajya Sabha can be -
(A) 250
(B) 238
(C) 240 |

(D) 260

[32]



106. dieit i< fras Seames & o vy
Bt 82
(A) T¥ SeRA
(B) W SIS
(C) foere ScaeH
(D) T | FIE T

107. TRFRAE ST 1 Yeen fire] adie
el gl o ?
(A) e
(B) g A®
(€) STs
(D) 3T & A g T

108. farseft w1 T en @t 7@ w0 B fAU
TR, He Yo¥ 3R HeRreg § ®F 6
"ﬁ’iﬂﬁﬁlﬂw‘mw |
(A) mm&vﬁzﬁam
(B) mﬁwﬂw A
(e s s
(D) Wﬁﬁaﬁéﬁ

1 J -2307 ] Series-B

[33]

106. Which of the following is referred
to as the Yellow Revolution?
(A) Milk Production
(B) FishProduction
(C) Oilseeds Production

(D) None of these

107. Where was the first summit of Non
Aligned Movement held?
(A) Yugoslavia
(B) New York
(C) Belgrade
(D) None of the above

108. Which joint project was started by
Gujarat, Madhya Pradesh &
Maharashtra to solve the problem
of electricity?

(A) Bhakra Dam Pariyojna
(B) Yamuna River Pariyojna
(C) Sardar Sarovar Pariyojéna

(D) None of these
[PT.O.



109. T # wfeenedt & fw 1/3 swEw | 109, Through which Constitutional

%I o forg wfaum weivm & 9 Amendment 1/3 reservation for
TE? women in panchayat was
ided?
(A) 71a provi e
: (A) 71st
(B) 721
(B) 72nd
(© 723 (C) 73rd
(D) 743 (D) 74th

110. F: WREHA Wy 3 e fRae o7g=sg | 110. Originally how many articles and
3R ferertt srqgfaat o ? Schedules were there in the Indian
(A) 395 aﬁa 8 W b Constitution? y
(B) 390 3‘!3@?{, i W | -(A) 395 Articles, 8 Schedules
(C) 305 377K, 9 sqafeE
D) RmAIREE

(B) 390 Articles, 10 Schedules
(C) 305 Articles, 9 Schedules
.~ (D) None of theabove

111. SRTYR T S el feera 7 2.  111. Where is Bandipur National Park
A)mERE o -~ Situated? | |
® 'GF(ZITUII AR T S (A) Madhya Pradesh
ook S sk (B) Haryana
L s ) (C) Gujarat
,(D) A -y f _. | (D) Karnaﬁka

[J-2307] Series-B [34]



112. % A R 1 e wnt ' W frw

oar?

(A) uifdgs

(B) WIadTeH

(C) H™

(D) SR & | g T

113. Frafafes § @ S H 922m TR
# yfafda St 2
(A) I
(B) = WeeR
() ¥
(D) ¥

114. a9 1 HOQ qFT FERAA HIA-H
e?
(A) T
® W
(C) serenfeant

(D) ¥R

[J-2307] Series-B

[35]"

112. Which rulers controlled the 'Silk
Route'?
(A) Parthians
(B) Satavahanas

(C) Kushans

(D) None of the above

113. Which of the following rock is
converted into marble?
(A) Granite
(B) Lime Stone
(C) Peat”

(D) Shell

114. Which is the largest desert in the
World? . 5 %t 5.7

(A) Sahara

(B) Gobi

(C) Antarctica

(D) Thar

[PTO.



115, &9 6 3 $F € Y ot ?
(A) H-H3N-t

(B) mg=
(C) w-g-wt
(D) wo=fE

116. < WHTT § W=t 1 f69 99 9 S
ST o2
(A) fafy
(B) 4
(C) ¥R
(D) ¥ q 3 &

117. 3w @ & fovt = =0 F@ 9w
a7
(A) T
(B) IHA
(C) T=m
@) =

[J-2307] Series-B

115. Which book was written by Hiuen
| Tsang?

(A) Fo-Koue-Ki

(B) Kamasutra

(C) Si-Yu-Ki

(D) Harshcharita

116. During the Gupta Period Provinces
were called by what name?
(A) Vidhi
(B) Bhukti
(C) Sarkar

(D) None of the above

117.1In the Vedic Era the coins were
known as -
(A) Mishak
(B) Shatman
(C) Krishman
(D) Taka

[36]



118, TFFd TS TH & SR =TT 6l

Tl e el fead § 7
(A) A

() &

(C) sl

(D) T | &g T8l

119, ST e ) v g2
| (A) 31 SH=R 1984
(B)-.25 faae 1983
(C) 3 fcuw=R 1984

(D) 3 fgEw=r 1985

120. 9RE o ‘e fve’ @ ey | 120.

i
(A) RRE fF
(B) et st
(©) i ¥ Wt
Lo i

[J-2307 ] Series-B

[37]I

118.

119.

Where is the permanent
headquarters of International
Court of Justice of UNO situated?
(A) New York

(B) Hague

(C) Belgrade

(D) None of these

When did the Bhopal Gas Tragedy
happen?

(A) 31 December 1984

(B) 25 September 1983

(C) 3 December 1984

(D) 31 December 1985

'The Cabinet Mission' to India was
headed by-

(A) Stafford Cripps

(B) A.V.Alexander

(C) Lord Pethick Lawrence

(D) Hugh Gaitskell |

 [PTO.



T

-SECTION - IV
General Awareness & Environmental Studies

121 Tﬁ‘! LU Tﬂa GUET T34 &1 3791 | 121. Which country has become the 31st

W w2 member of NATO Security alliance?
(A) A (A) Norway |

(B) fmers (B) Finland

(C) T (C) Denmark

(D) Hexete (D) Netherland

'_ 1gz.ﬁaélaﬂm%afm WP TN HE | 122. The Southern part of Eastern

IR ? o Coastal Plain is also named as -
(A) o wdE BeE (A) Konkan Coastal Plains:

(B) TSWW % HTH (B) Gujarat Plains

(©) m e 'a?{ﬁ B | (©) C;oromande‘l Coastal Plains
(D) TEEREE R (D) Malabar Coastal Plains

123, Wﬂ“‘ﬂ" ﬁﬁéwm%7 | 123. What is the "ruhr" of India?

(A) mﬁﬂ%ﬁﬁ "_l ‘ (A) Aravalli Mountains

(B) mm i _ (B) Chota Nagpur Plateau

©) 'qmaqﬁq i v (C) Malayalam Island |

(D) IR qanaqﬁa gaa . (D) Pir Panjal mountain range

[J-2307] Series-B [38]



124. fava Wrawm fagm e &1 e

Frafead 2
(&) =9 A
(B) SHaTH -
(C) faet 4
(D) 3= H

125. SR TS - 2023 Wgw ¥ v | 125,

fort < 9 | Wi § 7
(A) SRG-STHA

(B) WRG-SIH

) =

(D) Waﬁﬁ?ﬂ |

s

126.#%@@%%“@ ot ?
(A) 24 SRR 1945
(B) 24 =X 1946
©) 24 TR 1947
(D) 24 ST 1948

[J-2307 ] Series-B

[39]

124.

126.

Where is the headquarters of the
World Meteorological Organization
located? |

(A) New York

(B) Geneva

(C) Sydney

(D) Tokyo

With which two countries is the
'Veer Guardian-2023' joint
military exercise related? |

(A) India-Germany

(B) India-Japan -

(C) India-Russia +. ~

(D) India-America

When was the United Nations
established? | ‘

(A) 24 Octobér 1945 |

(B) 24 November 1946

(C) 24 December 1947

(D) 24 October 1948

[PTO.



127. 9Ia § SrAfsa 39 9ol G20 wfiwe 1
oftw o &2
(A) aa fawmg & fau dfyas
& qpﬂﬂ'l'ﬁ
(B) g s
(C) wiephrn fafre
(D) ST | | g T

128. i 1 “TgEt fadex” e S W@
fow = gren T ?
(A) 30 9g 1887
(B) 307% 1884

(C) 30 7% 1890

127. What is the theme of the G20
summit to be held in India?
(A) Global Partnership for
Sustainable Growth -

(B) Vasudhaiva Kutumbakam

(C) Cultural diversity

(D) None of above

128. When was "Gaiety Theater" of
Shimla opened for common
people?

(A) 30 May 1887
(B) 30 May 1884
(C) 30 May 1890

(D) 3032001 (D) 30 June 2001 - -
129; TR S SR F TR ¥~ | 129, The Capital of UAEds - .
(A) foe | (A) Riyadn. .
(B) zﬂ'{ (B) Dubai
(C) aimiﬁ A 3 . __\ (C) AbuDhabi__. .
(D) Eﬁﬁﬁ%‘?ﬁ’f i (D) None of these
[J-2307 ] Series-B "[40]



130. 9 391 7 ICC € e Aftmefim
I 2023 ST ?
(A) WA
(B) =ieivs
(C) sifern
(D) ¥ivs

131. 2024 ¥ ST Gl it e h-an
wwm

132, 1541 e v weiter o 2023
gl T A &2 |
(A) < s & s
(®) i 3 i 4
(€) WA @ E R d -

(D) TG AR T

~ [J-2307] Series-B

130. Which Country won the ICC World
Test Championship Final 2023 ?
(A) India
(B) New Zealand
(C) Australia

(D) England

131. Which country will host the
Olympic Games in 20247
(A) India
(B) England
(C) France
(D) Japan
132, Where will the 15% BRICS summit
be held in August 2023?
(A) Durban in South Africa
(B) Washington in America

(C) New Delhi, India

[41]

(D) None of the above

[PTO.



133, foeraqR Terart 7 1 faam frsr 8 Q
fora® gr1 wehe foram T @12

(A) &w =]

(B) Sl 9. TH. THR
(C) Tuy, Mrew

(D) wre Teed

134. femraret wewr oy wfgen vt fofg ol
¥ goifeaq gom ?
(A) 1990
(ﬁ) 1993
(C) 1997

(D) 1999

135, feerere w1 8 e = gt e e
ISR oW geds ) T 87
(A) %8 i se -
(B) ¥:10 wfa sewt
() T5Sfdma .

[J-2307 ] Series-B

133. The idea of the Nalwari fair of
Bilaspur was expressed by whom
among the following?

(A) Harish Chand
(B) Dr.Y.S. Parmar
(C) W.Goldstein
(D) Lord Amherst

134. In which year 'Himachal Pradesh
State Commission for Women' was
constituted?

(A) 1990
(B) 1993
(C) 1997

(D) 1999

135. How much cow cess is levied on
sale of liquor in H.P. ?
(A) T 8 Per bottle
(B) ¥ 10 Per bottle
(C) T 5Per bottle

(D) None

[42]



136. T4 F ferae Wt @ e wh
HHE?

(A) SRS e

(B) HSR T

(€) way wR

(D) Sw= & q # Tl

137. T2 o = forsrrersn T 3 wgeht ww
R e T g A T
(A) R
(B). ®ie®
(C) 3y W=
©) fiste

'_138 aﬁawmmm%ﬁz

. 136. Who is the current Chief Secretary

of Himachal Pradesh?
(A) RD Dhiman

(B) Sanjay Gupta

(C) Prabodh Saxena
(D) None of the above

137."The vote from home" initiative
" has been introduced for the first

time in the Assembly election of
which State?
(A) Kerala |
(B) Karnataka | |
(C) AndhraPradesh
(D) Mizoram

i38._How 'fnany-“ types of writs can be

} fi:s:'suedjby the Supreme Court?

ﬁﬁm4 (A 4
®) 5 w ot B
G et 6.
| Dy D) 7 HriE
[43] g ot 2 [PTO,
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139. Fr=fafea # & feust Frafs oo
& I & 1 S g2
(A) weRIfYerH!
(B) Tt
(C) T4 Tk |l A & TR

(D) =3 <HEIe™ & e

140, Frafafas ¥ § ¥ wrea ford ¥
(STRateTg) & FA TR ¥ 2
(A) TR T
(B) sfiq g
(C) wifthepia T
(D) ST 3§ A o T

141, FF-9 7 feumee weur & fawiik i
'aﬂmm-ﬁmwnﬁﬁghﬁ%?
(A) Tt =<
(B) WR#SI &l
(C) fiR =
(D) S AR

[J-2307 ] Series-B

139. Which of the following is not
appointed by the Governor?
(A) Advocate General
(B) Chief Minister
(C) Member of State Public
Service Commission

(D) Judges of the High Court

140. Who among the following is the
current Governor of Reserve Bank
of India (RBI)?

(A) Raghuram Rajan
(B) Urjit Patel

(C) Shaktikanta Das
(D) None of above -

141. Which river divides; Sirmour
| District into two equal parts?
(A) GomtiRiver :
(B) Markanda River
(C) GiriRiver

(D) None o_f the above

[44]



142. TEAT=E YS9 THR GRI WY1 1 2 M
gl Bia o1l a1 g SFM 1 SEd

fora oo o @1 Fruifia e 2
(A) T 2023

(B) = 2025

(C) =¥ 2027

(D) SR d § HE T

143. ‘w7 Trenen’ ferreer wew # i R
®?
(A) TREY
(B) wrt

(C) §R TR
(D) =k

144, A H, ferree WO & TR FA
®2 |
& (A) aﬁnﬁaﬁwwaﬁaﬂ
- (B) it wow fst
(C) it sieTE T
(b.) it fre warg - Y.

[J-2307] Serles-B

[45]

142. Himachal Pradesh government
has set the target of making the
state the first green energy state of
the country till which year?

(A) Year 2023
(B) Year 2025
(C) Year 2027
(D) None of the above |

143. Where is 'Manu Rangshala'situated
in Himachal Pradesh?
(A) Palampur
(B) Pangi
(C) Sunder Nagar
(D) Manali

144. At present, who is the Governor of
Himachal Pradesh? |
(A) Shr1 Rajendra Vishwanath
Arlekar = |
(B) ShriKalraj Mishra
(©) Shn Bandaru Dattatreya
(D) - Shri Shiv Pratap Shukla

[P.T..



145, 59 1951 & s wor TR Bl
T S el T gel 917
(A) it
(B) A
(C) %
(D) 7 fiweht

146. G 9 fpY B A Heftm 872
(A) HEle
(B) el
(C) = AW
(D) el

147. 3z el wafewor R w9 GE

T ?
| (A) d 1987 |
(B) T1990
(©) aﬂf1997-
(D) & 2003

[J - 2307 ] Series-B

145. Where was the first Asian Games
held in the year 19517
(A) Manila
(B) Tokyo
(C) Bangkok

(D) New Delhi

146. Subroto Cup is related to which
sport?
(A) Football
(B) Hockey
(C) Table Tennis
(D) Polo

147. When was Gandhi

Indira
Paryavaran Pufaskar started?
(A) Year 1987
(B) Year 1990
(C) Year 1997

(D) Year 2003

[46]



148. T TATHE FLES T e T FA 412
(A) TH T
(B) TR} ¥
(C) = A

(D) & T

149, forva Jete FTq F HAAT W @ 2
(A) 2 S

(B) 2 Wl
(B) 2nd February
(C) 4w
(C) 4th March
(D) 438 (D) 4th April
150. = T WY T GY B HEEEd HH 150, Who is currently the Secretary
%‘? ) | General of the United Nations ?
@) S "(A) JoeBiden |
(B) @ﬁﬁrgﬁi‘q (B) Antonio Guterres
(C) TE. TG TR (C) S.Jaishankar Prasad
| (D) ST # & F Tl (D) None of the above
% % % %k %k | =
[J-2307 ] Series-B [47] [P.T.O.

148. What was the original name of
Swami Dayanand Saraswati?

(A) Ram Shankar
(B) Gauri Shankar
(C) Daya Shankar
(D) Mul Shankar

ﬁﬁ EXaTs 1"

celebrated?

(A) 2nd January



